Math 111 Finance Worksheet B

1. Future Value Annuity: How long will it take Dot Snice to accumulate $1,000,000 if she invests $3,000
per year at an annual interest rate of 8%? Assume interest is compounded annually.
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2. Many employers offer a 401K or 403B plan that allows employees to invest for retirement. The beauty
of the plan is that employees who invest $15,000 in a year, will pay federal taxes on $1 5,000 less in
income — a fremendous tax savings. If we assume that the tax saved equals the rate of return on an
investment, calculate the return on investment for the two employees below. -

Salary $50,000 $50,000
Investment in TSA $15,000 $0
Taxable Income $50,000 — $15,000 = $35,000 $50,000
Fed Tax Paid ' $5,308 $9,058
State Tax Paid (4%) (.04)($35000) = $1,400 (.0H(E50000) = $2.000
' Tax Savings: (89,058 + $2,000) — ($5,308 + $1,400) = $4,350
Rate of return: $4,350/815,000 = 29%,
Repeat the above calculations to determine the tax savings of a second employee.
Salary $80,000 $80,000
Investment in TSA $15,600 $0
Taxable Income b B0 Koo
Fed Tax Paid $12,902 $17,102
State Tax Paid (4%) L &ao BTN
Tax Savings: 2032 —jifsal = Y Roa
Rate of return: - 8&@;{ [Soce = &.BQ




